Infrastructure - Bug #7465

v1 objects not replicating to v2 member nodes
2015-11-02 23:39 - Rob Nahf

Status: Rejected Start date: 2015-11-02
Priority: Normal Due date:

Assignee: Andrei Buium % Done: 0%
Category: d1_replication Estimated time: 0.00 hour
Target version: CCl-2.0.0

Milestone: None Story Points:

Product Version: *

Description

5 v1_v2_interoperability tests are failing because they are not finding a node to replicate to beyond the CN (accomplished in
synchronization). Replication isn't creating the 3rd replica for some reason or another.

(Maybe it's stalled - not ever reaching COMPLETED status?)

http://jenkins-1.dataone.org/jenkins/view/DEV-2%20Integration%20Tests/job/d1_integration_ DEV2_v1_v2_interop_functional/lastCo
mpletedBuild/testReport/

Other tests are passing (52 out of 57), but may not have the same dependency on replication...

History

#1 - 2015-11-04 15:00 - Andrei Buium

- Status changed from New to Rejected

The service that creates replica requests had just gone down. No bug.
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